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Aufgabe 1: a) We have
Heanpert(ST) = max{Sr/Sy—1,0}
= SiomaX{ST—SO,O}
=: SLO H anabs(ST)

where Heanabs(S1) = Hean(St) is just a standard call in absolute amount to which the Black-
Scholes formula can be applied. Thus, since K = Sy and r = 0,

Vo = price(Heanper)
= g price(Heanabs)
= 5 1SoN(dy) — Sy N(d-)}
= N(dy) — N(d-)

with
; log[2] + (0 02/2)T
s ovT

This proves part (a).
b) Using (a), we can write

Vo = N(oVT/2)— N(—oVT/2)

N(oﬁ/Q)—N(—oﬁ/Q) <l s
0\/7/2—(—0\/?/2) { \/T/Q ( \/T/Q)}

N'(0) x oVT

Q



Since

we have

and we obtain
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